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) = A At X 5y PR ZE 7
WER 21 3 18 9 8 1
A TEBURR 20 4 16 9 6 1
IR E R 22 2 20 6 13 1
MEAE 63 9 54 24 27 1 1 1
B 27 4 23 17 6
T 8 1 7 3 4
GIRET S 7 7 4 3
TR ST MBI SRR 28 18 10 5 5
Ha ST HEHR S AR 26 16 10 9 1
RS 96 39 57 38 19
1 RIH B 35 3 32 4 26 2
EENE S 13 9 4 1 3
BREE IR AR 15 4 11 9 2
GRS R DR 11 9 2 2
A ST R N R 11 9 2 2
T BRATE S 85 34 51 18 31 2
Fras @Ak 32 8 24 17 5 2
FEbrELR 27 7 20 18 2
v e PR 32 11 21 15 3 2 1
SRS fEpkRR 6 5 1 1
RIS fEALR 7 5 2 2
REFT 4 4 4
& k0 108 36 72 57 8 2 5
PRI A 20 10 10 9 1
ek o e R 25 25 11 12 2
e PR AT 45 10 35 20 13 2
JRBGR 46 5 41 31 6 2 2
JEATHE AR 29 3 26 23 1 2
P AR 51 3 48 31 7 10
JEE SEAR T S 126 11 115 85 14 2 14
R 31 4 27 16 2 9
PR 17 4 13 8 4 1
IR S 12 2 10 2 5 3
FHODHEMERR 9 1 8 2 6
AR T AR R 69 11 58 28 17 13




) 5 A At X 5y M= SE 7
VIS S 17 17 10 7
TKER 14 1 13 13
ROKERR 31 1 30 23 7
FHAR 34 34 31 2 1
AEPEFE R 32 1 31 13 15 1 2
ARV R B 13 13 9 3 1
A P [ 3 3 3
X 3 3 3
o T [ 3 3 3
AR R 13 13 11 1 1
RS R 8 8 6 1 1
s A BRAR 6 6 6
kR Z— 2 2 2
AR REE 22— 2 2 2
A TR SR 5 5 5
Fith FE S HE 5] 6 6 6
BEEZER 130 1 129 100 22 1 6
o0 Ty S 8 8 8
TRk 7 7 6 1
TR 13 13 12 1
GIIEE=RrZ 5 5 4 1
AR ES 9 9
FCEBIHBS 2 9 9
TRIVE B 9 9
TH B ASE 60 27 33 30 2 1
R PR 4 4 3 1
NIRA 4 4 3 1
ESNT 10 10 10
REZER 11 11 11
R FHR 2 1 1 1
EAEZBFER 1 1
N = BN 1 1
w & Ft 842 182 660 448 161 1 6 44




